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001 M= 0l Kt 70,000 50,000 20,000
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o Oi8ol=& dMIlE (2,454)
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O ot 22| gRAE
300,000& X 39 X 13/ 900
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212 S| M| 14,596 0 14,596
212-1 AISIBEE 232 12,996 0 12,996
O RIHLZZX A EE AIEEESEZ (12,996)
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AT JEE 2,090& X 123 26
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ot=% MNEZ 210,000& X 30% 63
o EESHUEEHZHERAIZUIAERE 100,000& X 122 1,200
o B 2ets 2IEL AIER 40,000& X 128 480
o EISSHUSELE TVRAAMER 20,000& X 12& 240
o EISSHUSEIDLE QHUAMER 30,000& X 12& 360
o dJ|erdae| Xt A3 100,000& X 13 100
202 044 1,800 1,800 0
202-1 =LY 1,800 1,800 0
O H=8oH AIZEE
150,000& X 1€ X 123 1,800
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1,000,000& X 14 1,000
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3,000,000& X 14 3,000
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3,000,000& X 14! 3,000
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o St==XelAld ZHIxt 2,000,000& X 23 4,000
201-2 32 ZHl 5,000 82,272 ANTT,272
O 2322 % MAl (5,000)
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2,500, 000 & X2H 2~ 5,000
202 044 1,800 1,800 0
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150,000& X 1€ X 123 1,800
207 Ao 100,000 3,000 97,000
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106-3 SHH LAY 7,680 7,680 0
ZOIYEABLA (52005
80,000& X 898 X 12& 7,680
2| 146,800 149,860 ~3,060
2Bt I | 65,580 101,360 A35,780
201-1 At 2r2lHl 27,940 16,600 11,340
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2,000,000& X 14 2,000
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=AXXIE0ldlbl 69,763 77,864 A8,101
PAE=E=DNE=10: I=]}s]] 100,000 83,000 17,000
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Ol CHXt CHEE

g1 : 201312831 &M

dEANt=AIHSE 3 A = o &
H 3 B+ = 2 oH

( 11000-00 == AHat ) 509,218,581

( 11100-00 SESPUR ) 494,396, 181
11101-00 sa0lz 500,000,000

( 11103-00 NEHMELAS=S ) 6,181,520
11103-03 dH=0E= 6,181,520
11109-00 SR AT79,365,840
11110-00 =EEs A2,132,710
11111-00 JIEOl =32 63,971,270
11113-00 Ol =2 5,741,941

( 11200-00 KH 0 K&t ) 14,822,400
11201-00 NES 14,822,400

( 12000-00 Hl == Atk ) 296,963,573,454

( 12200-00 = AHA ) 296,427 ,456,889

( 12201-00 JtS &I X ) 284,537,695, 132
12201-01 EX 8,639,718,740
12201-03 &= 2,738,186,358
12201-05 rab— 18,958,584, 141
12201-06 EPIRSEE Rl N5,143,276,720
12201-09 —EE= 342,301,514,439
12201-10 EPIRSEE Rl A107,341,226,242
12201-13 IAHEX 36,442,788,494
12201-14 EPIRSEE Rl A12,260,967,520
12201-17 Arg2er 208,603,300
12201-18 EPIRSEE Rl 208,603,300
12201-21 =Pkl 1,451,293,047
12201-22 ot 2 H N A1,431,919,605
12201-49 ol gl 183,000,000

( 12203-00 HIOtS &£ | XHat ) 11,889,761,757
12203-01 AL S At 11,889,761,757

( 12400-00 PR ) 536,116,565
12447-00 JIEf S Aot 536,116,565

A& 5 A 297,472,792,035

( 21000-00 =SFM ) 6,841,884,511
21005-00 OIX=HlE 8,359,390
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ZEANSt=T AL EE 3 A = O &
H 3 B+ = 2 oH
( 21011-00 Ol=== ) 6,181,520
21011-03 Y03 6,181,520
21017-00 FsdEI|0IK==2 7,181,000,000
21018-00 STMOLXIE IR = (&) 353,656,399
( 22000-00 H=SS2 M ) 77,878,585,756
22003-00 01X S= 126,713,000,000
22004-00 STMOtXIE IR = (&) 48,989,621,663
22009-00 NSIHEI= 99,000,000
22031-00 EXHNSHSEE 56,207,419
R == | 84,720,470,267
( 31000-00 A== ) 100,602, 155,391
31001-00 HAANAZS 100,602, 155,391
( 32000-00 A=dois ) 161,977,443,820
32001-00 21N8x3 86,589,500,000
32003-00 ANEHIEXS 4,412,000,000
32005-00 Bl HEXS 27,589,718,000
32007-00 NEZE=S 7,042,102,000
32009-00 SARE=S 918,000,000
32011-00 FERUDN SR =) 24,837,505,900
32015-00 DIE = 10,588,617,920
( 33000-00 olxdo=s ) N49,827,277,443
( 33900-00 AJI0IE0ISY 0= ) N49,827,277,443
( 33999-00 =009 0=3 ) A34,840,022,830
33999-01 HII01E01L 0= A34,840,022,830
gIl=0l« N 14,087,254,613
e A 212,752,321,768

i
gl-|=|
[¢]
>
:

O
x

297,472,792,035
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E 22 HLA
D1 :2013/1/1 ~2013/12/31

ZEANOtTE AL EE 3 A = o
H B3 ¥ = =2 OH
( 4100000 o o120l ) 6,273,528,000
41001-00 NE=3-PN-1 6,265,028,000
4104700 JIEH @f 40 8,500,000
| = = 0 & 6,273,528,000
( 4300000 =RTHE= ) 29,072,922,613
43001-00 2401l 8,992,931,000
4300300 oI R 79,700,000
43005-00 Hel &l 5,238,760,000
4300900 2B 22| | 852,616,000
43013-00 = YNTE] 20,000,000
43017-00 2 tak 2ty 13,819, 152,613
4304900 ofl Bl 69,763,000
I o o o o A22,799,394,613
( 4400000 i Q40! ) 7.,857,000,000
44001-00 0l Rp==2! 70,000,000
4400400 Etal X224 7,787,000,000
( 4500000 o219 H| 8 ) 44,860,000
45001-00 Ol XtHl & 14,860,000
45023-00 e+ e 30,000,000
I 2 a0 o 14,987 254,613
( 4600000 S20|9 )
( 4700000 Sgaa )
IV o Il = 0 o A14,987,254,613
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Ol CHXt CHEE

g1 2012812831 &M

dEANt=AIHSE 3 A = o &
H 3 B+ = 2 oH

( 11000-00 == AHat ) 609,218,581

( 11100-00 SESPUR ) 594,396, 181
11101-00 sa0lz 500,000,000

( 11103-00 NEHMELAS=S ) 6,181,520
11103-03 dH=0E= 6,181,520
11109-00 SR 20,634,160
11110-00 =EEs A2,132,710
11111-00 JIEOl =32 63,971,270
11113-00 Ol =2 5,741,941

( 11200-00 KH 0 K&t ) 14,822,400
11201-00 NES 14,822,400

( 12000-00 Hl == Atk ) 290,565,325,067

( 12200-00 = AHA ) 290,029, 208,502

( 12201-00 JtS &I X ) 277,669,446,745
12201-01 EX 8,639,718,740
12201-03 &= 2,738,186,358
12201-05 rab— 18,958,584, 141
12201-06 EPIRSEE Rl N4,669,312,118
12201-07 —EE= 321,934, 113,439
12201-08 EPIRSEE Rl A95,356,853,095
12201-09 IAHEX 36,222,788,494
12201-10 EPIRSEE Rl A~ 10,923,229,015
12201-11 Arg2er 208,603,300
12201-12 EPIRSEE Rl A208,603,300
12201-13 =Pkl 1,451,293,047
12201-14 ot 2 H N A 1,408,843,246
12201-49 ol gl 83,000,000

( 12203-00 HIOtS &£ | XHat ) 12,359,761,757
12203-01 AL S At 12,359,761,757

( 12400-00 PR ) 536,116,565
12447-00 JIEf S Aot 536,116,565

A& 5 A 291,174,543,648

( 21000-00 =SFM ) 6,841,884,511
21005-00 OIX=HlE 8,359,390
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ZEANSt=T AL EE 3 A = O &
H 3 B+ = 2 oH
( 21011-00 Ol=== ) 6,181,520
21011-03 Y03 6,181,520
21017-00 SsEFII0IXZ223 7,181,000,000
21018-00 S ERS(RSH) 353,656,399
( 22000-00 H=SS2 M ) 78,087,585,756
22003-00 01X S= 126,713,000,000
22004-00 STMOtXIE IR = (&) 48,989,621,663
22009-00 NSIHEI= 308,000,000
22031-00 EXHNSHSEE 56,207,419
R == | 84,929,470,267
( 31000-00 A== ) 100,602, 155,391
31001-00 HAANAZS 100,602, 155,391
( 32000-00 A=dois ) 140,482,940, 820
32001-00 21N8x3 72,928,500,000
32003-00 ANEHIEXS 4,054,000,000
32005-00 Bl HEXS 27,589,718,000
32009-00 SARE=S 484,599,000
32011-00 FERUDN SR =) 24,837,505,900
32015-00 DIE = 10,588,617,920
( 33000-00 olxdo= ) A34,840,022,830
( 33900-00 AJI0IE0ISY 0= ) A34,840,022,830
( 33999-00 =009 0=2 ) N21,438,870,217
33999-01 HII01E01LAd 0= A21,438,870,217
gIl=0l« A13,401,152,613
e A 206,245,073, 381

i
gl-|=|
to
>
:

O
x

291,174,543,648
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E 22 HLA
&Il :2012/1/1 ~2012/12/31

dEANSt=TAIASE 3 A = 0 &
H 3 ¥ = = oH
( 41000-00 Jg = ) 6,288,028,000
41001-00 MNEE 9 6,265,028,000
41047-00 JEtE g+ 23,000,000
| 0 £ & 0l 6,288,028,000
( 43000-00 s ) 28,893,015,613
43001-00 2t HHl 9,009,714,000
43003-00 I A 88,110,000
43005-00 Xl &l 5,021,072,000
43009-00 ket 857,103,000
43013-00 AIE S A 20,000,000
43017-00 a2l 13,819, 152,613
43049-00 ol 77,864,000
Il g g o ¢ N22,604,987,613
( 44000-00 A= ) 9,269,000,000
44001-00 Ol Kt=< 50,000,000
44004-00 Bt AN E S+ 9,219,000,000
( 45000-00 AL E ) 35,165,000
45001-00 Ol XtHI & 35,165,000
Il g & 0 <« N13,371,152,613
( 46000-00 SE0l% )
( 47000-00 S84 ) 30,000,000
47047-00 JEtSEg&4 30,000,000
v g Jl = 0l « N~ 13,401,152,613
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